Computational Methods for Differential Equations http://cmde.tabrizu.ac.ir Vol. 8, No. 1, 2020, pp. 194-204 DOI:10.22034/cmde.2019.9525



A new method for constructing exact solutions for a time-fractional differential equation

Elham Lashkarian* Faculty of Mathematical Sciences, Shahrood University of Technology, Shahrood, Semnan, Iran. E-mail: lashkarianelham@yahoo.com

Seyed Reza Hejazi Faculty of Mathematical Sciences, Shahrood University of Technology, Shahrood, Semnan, Iran. E-mail: ra.hejazi@gmail.com

Noora Habibi

Faculty of Mathematical Sciences, Shahrood University of Technology, Shahrood, Semnan, Iran. E-mail: habibi85nu@gmail.com

Abstract In the present paper the process of finding new solutions from previous solutions of a given fractional differential equation (FDE) is considered. For this issue, first we should construct an exact solution by using the symmetry operators of the equation. Then, the commutator brackets of the obtained operators give new solutions from old ones via a systematic method.

Keywords. Lie point symmetry, Fractional calculus, Fractional differential equation, Exact solution.2010 Mathematics Subject Classification. 76M60, 34K37, 34K06, 26A33.

1. INTRODUCTION

In the last decade FPDEs have attracted considerable interest. This kind of equation plays an important role in various fields of sciences, for example engineering, electrochemistry, biology, economics, modeling, electronics, dynamics, and many other sciences [10, 12, 13]. Lie symmetries method have many efficient applications in physics and mathematics. As an important application of symmetry operators is the reduction procedure. This is possible from a similarity variable obtaining from the symmetry and Erdelyi-Kober. In this paper time FDE

$$D_t^{\alpha}u = xu_{xx} + f(x)u_x, \tag{1.1}$$

is considere, where $D_t^\alpha u$ is the fractional derivative of order α , $0 < \alpha \le 1$ and f(x) is an arbitrary function.

Received: 25 December 2017 ; Accepted: 07 November 2018.

^{*} Corresponding author.

Firstly, we present the complete algebra of Lie point symmetries for Eq. (1.1). With the aid of calculated symmetries, Eq. (1.1) is reduced and a list of exact solutions are found [1, 2, 8, 9]. The main goal of the paper is to build new solutions from the old ones by using the obtained exact solutions.

Some researches applied Lie group method for FDEs in the sense of the Caputo derivative and derived similarity solutions [4, 11]. In this work, we give group classification of Eq. (1.1), based on Riemann-Lioville derivative [5].

The organization of the paper sets in 6 sections; In section 2, we give some notations and preliminaries of equation with fractional order. The infinitesimal transformations and the determining equations of Lie symmetries are introduced in section 3. Section 4 is devoted to reduction precess for obtaining exact solutions of Eq. (1.1) in three separated cases. New exact solutions with the aid of obtained solutions, are presented in section 5. Finally, section 6 is dedicated to obtained results.

2. Fractional Calculus

There is no unique definition for fractional derivatives, such as modified Riemann-Liouville derivative, Grunwald-Letnikov derivative, Caputos, Riesz, Miller and Ross fractional derivative . Here we consider the most common definition named in Riemann and Liouvill derivative. In the sequel that, based on what is required in this work we give some basic definitions and properties of the fractional calculus theory [6]. Let us define

$$D_t^{\alpha} f(t) = \begin{cases} \frac{d^n f}{dt^n} & \alpha = n\\ \frac{d^n}{dt^n} I^{n-\alpha} f(t) & 0 \le n-1 < \alpha < n, \end{cases}$$
(2.1)

where $n \in \mathbb{N}$, $I^{\beta}f(t)$ is the Riemann-Liouville fractional integral of order β , namely $I^{\beta}f(t) = \frac{1}{\Gamma(\mu)} \int_{0}^{t} (t-s)^{(\beta-1)} f(s) ds, \qquad \beta > 0.$ By definition, we have $I^{0}f(t) = f(t)$ and it satisfies the stability property $I_{t}^{\nu_{1}} I_{t}^{\nu_{2}} f(t) = I_{t}^{\nu_{1}+\nu_{2}} f(t)$ and $\Gamma(\nu) = \int_{0}^{\infty} x^{\nu-1} e^{-x} dx, \quad \nu \in \mathbb{R}^{+}$, is the standard gamma function.

Definition 2.1. The Riemann-Liouville fractional partial derivative is defined by,

$$\partial_t^{\alpha} u(t,x) = \begin{cases} \frac{\partial^n u}{\partial t^n} & \alpha = n\\ \frac{1}{\Gamma(n-\alpha)} \frac{\partial^n}{\partial t^n} \int_0^t (t-s)^{n-\alpha-1} u(s,x) ds & 0 \le n-1 < \alpha < n, \end{cases}$$

where ∂_t^n is the usual derivative of integer order n.

Some useful formulas and properties of Riemann-Liouville derivative have been summerized in [7].

The laplace transform of Riemann-Liouville fractional derivative of order $\alpha > 0$ is [14]

$$L\{D^{\alpha}f(t)\} = s^{\alpha}F(s) - \sum_{k=0}^{\infty} s^{k}\{D_{t}^{\alpha-k-1}f(t)\}_{t=0}.$$
(2.2)

where $L\{f(t)\} = F(s) = \int_0^\infty e^{-st} f(t) dt$. A two-parameter function of Mittag-Leffler type was defined by the series expansion [15]

$$E_{\alpha,\beta}(z) = \sum_{k=0}^{\infty} \frac{z^k}{\Gamma(\alpha k + \beta)}, \qquad \alpha, \beta \in \mathbb{C}, \qquad Re(\alpha) > 0, \qquad Re(\beta) > 0.$$

Some of the relationships are as follows:

$$\begin{aligned} D^{\nu}[t^{\beta-1}E_{\alpha,\beta}(at^{\alpha})] &= t^{\beta-\nu-1}E_{\alpha,\beta-\nu}(at^{\alpha}), \qquad \nu > 0, \qquad \alpha > 0, \qquad a \in R.\\ L\{t^{\alpha k+\beta-1}E_{\alpha,\beta}^{(k)}(\pm at^{\alpha})\} &= \frac{k!s^{\alpha-\beta}}{(s^{\alpha} \mp a)^{k+1}}, \qquad Re(s) > |a|^{\frac{1}{\alpha}}. \end{aligned}$$

Definition 2.2. The Erdelyi-Kober fractional differential operator $P_{\beta}^{\tau,\alpha}$ of order α is defined as [6]

$$\begin{pmatrix} P_{\beta}^{\tau,\alpha}g \end{pmatrix} := \prod_{j=0}^{n-1} \left(\tau + j - \frac{1}{\beta}\theta \frac{d}{d\theta}\right) \left(K_{\beta}^{\tau+\alpha,n-\alpha}g\right)(\theta),$$
$$n = \begin{cases} [\alpha] + 1 & \alpha \notin \mathbb{N} \\ \alpha & \alpha \in \mathbb{N}, \end{cases}$$

where

$$\left(K_{\beta}^{\tau,\alpha}g\right) := \begin{cases} \frac{1}{\Gamma(\alpha)} \int_{1}^{\infty} (u-1)^{\alpha-1} u^{-(\tau+\alpha)} g(\theta u^{\frac{1}{\beta}}) du & \alpha > 0\\ g(\theta) & \alpha = 0, \end{cases}$$
(2.3)

is the Erdelyi-Kober fractional integral operator. Also we have

$$\frac{\partial^{n}}{\partial t^{n}} \left[t^{\chi} (K^{\tau, n-\alpha}_{\beta} g) \right] (\theta) = t^{\chi-n} \prod_{j=0}^{n-1} \left(\chi - n + 1 + j + a\theta \frac{d}{d\theta} \right) \left(K^{\chi-n+\alpha+1, n-\alpha}_{\beta} g \right) (\theta) \\
= t^{\chi-n} \left(P^{\chi-n+1, \alpha}_{\beta} (\theta) \right),$$
(2.4)

if

$$t\frac{\partial}{\partial t}g(\theta) = a\theta\frac{d}{d\theta}g(\theta), \qquad \theta = xt^a.$$

C N D E

3. Symmetry analysis of FDEs.

Lie symmetries with the prolongation formula for FDEs have been given by Gazizov [3]. According to this method, Eq.FDE (1.1) is invariant under a one parameter continuous transformations with parameter ε [16, 17, 18],

$$t^{*} = t + \varepsilon \xi^{0}(t, x, u) + O(\varepsilon^{2}), \quad x^{*} = x + \varepsilon \xi^{1}(t, x, u) + O(\varepsilon^{2}),$$

$$u^{*} = u + \varepsilon \eta(t, x, u) + O(\varepsilon^{2}), \quad \frac{\partial^{\alpha} u^{*}}{\partial t^{*}} = \frac{\partial^{\alpha} u}{\partial t^{\alpha}} + \varepsilon \zeta^{\alpha, t}(t, x, u) + O(\varepsilon^{2}),$$

$$\frac{\partial u^{*}}{\partial x^{*}} = \frac{\partial u}{\partial x} + \varepsilon \zeta^{x}(t, x, u) + O(\varepsilon^{2}), \quad \frac{\partial^{2} u^{*}}{\partial x^{*2}} = \frac{\partial^{2} u}{\partial x^{2}} + \varepsilon \zeta^{xx}(t, x, u) + O(\varepsilon^{2}),$$

(3.1)

where

$$\begin{aligned} \zeta^{x} &= D_{x}\eta - u_{t}D_{x}\xi^{0} - u_{x}D_{x}\xi^{1}, \qquad \zeta^{xx} = D_{x}\zeta^{x} - u_{xt}D_{x}\xi^{0} - u_{xx}D_{x}\xi^{1}, \\ \zeta^{\alpha,t} &= \frac{\partial^{\alpha}\eta}{\partial t^{\alpha}} + (\eta_{u} - \alpha D_{t}(\xi^{0}))\frac{\partial^{\alpha}u}{\partial t^{\alpha}} - u\frac{\partial^{\alpha}\eta_{u}}{\partial t^{\alpha}} - \sum_{n=1}^{\infty} \binom{\alpha}{n}D_{t}^{n}(\xi^{1})D_{t}^{\alpha-n}(u_{x}) \\ &+ \sum_{n=1}^{\infty} \left[\binom{\alpha}{n}\frac{\partial^{n}\eta_{u}}{\partial t^{n}} - \binom{\alpha}{n+1}D_{t}^{n+1}(\xi^{0}) \right] D_{t}^{\alpha-n}(u) + \mu, \end{aligned}$$
(3.2)

and

$$\mu = \sum_{n=2}^{\infty} \sum_{m=1}^{n} \sum_{k=1}^{m} \sum_{r=0}^{k-1} \binom{\alpha}{n} \binom{n}{m} \binom{k}{r} \frac{1}{k!} \frac{t^{n-\alpha}}{\Gamma(n-\alpha+1)} (-u)^r \frac{\partial^m}{\partial t^m} (u^{k-r}) \frac{\partial^{n-m+k}}{\partial t^{n-m} \partial u^k},$$

also $\binom{\alpha}{n} = \frac{\Gamma(\alpha+1)}{\Gamma(n+1)\Gamma(\alpha+1-n)}$.

Here D_x denotes total derivative operator defined by:

$$D_x = \frac{\partial}{\partial x} + u_x \frac{\partial}{\partial u} + u_{xx} \frac{\partial}{\partial u_x} + \dots$$

 \mathbf{If}

$$X = \xi^0 \frac{\partial}{\partial t} + \xi^1 \frac{\partial}{\partial x} + \eta \frac{\partial}{\partial u}, \qquad (3.3)$$

be a symmetry operator for the Eq. (1.1), which is known in the literature as an infinitesimal operator or generator of the group G, we must have

$$\xi^0 = \frac{dt^*}{d\varepsilon}|_{\varepsilon=0} \quad \xi^1 = \frac{dx^*}{d\varepsilon}|_{\varepsilon=0} \quad \eta = \frac{du^*}{d\varepsilon}|_{\varepsilon=0}.$$

According to the infinitesimal invariance criterion, Eq. (1.1) admits transformation group (3) if the prolonged vector field $Pr^{(\alpha,2)}X$ annihilates (1.1) on its solution, namely,

$$\Pr^{(\alpha,2)}X(\Delta)|_{\nabla=0} = 0, \qquad \Delta = D_t^{\alpha}u - xu_{xx} - f(x)u_x.$$

The operator $Pr^{(\alpha,2)}X$ takes the form:

$$\Pr^{(\alpha,2)}X = X + \zeta^{\alpha,t}\partial_{\partial_t^{\alpha}u} + \zeta^x\partial_{u_x} + \zeta^{xx}\partial_{u_{xx}},$$

where ζ^x and ζ^{xx} are defined in (3.2). Now, we will investigate the invariance properties of the time fractional Eq. (1.1). The invariance criterion takes the form

$$\zeta^{\alpha,t} - (u_{xx} + f'(x)u_x)\xi^1 - f(x)\zeta^x - x\zeta^{xx} = 0.$$
(3.4)

Solving (3.4) along with (3.2), we derive the following characteristic system:

$$\begin{aligned} \xi_t^1 &= \xi_u^0 = \xi_u^1 = \xi_x^0 = \eta_{uu} = 0, \\ x\eta_u - \alpha x \xi_t^0 - \xi^1 - x(\eta_u - 2\xi_x^1) &= 0, \\ - \alpha f(x)\xi_t^0 - f'(x)\xi^1 + f(x)\xi_x^1 - x(2\eta_{xu} - \xi_{xx}^1) &= 0, \\ \partial_t^\alpha \eta - u\partial_t^\alpha \eta_u - f(x)\eta_x - x\eta_{xx} &= 0, \\ \binom{\alpha}{n} \partial_t^n \eta_u - \binom{\alpha}{n+1} D_t^{n+1}\xi^0 &= 0. \end{aligned}$$

With classification of solution of this system, we obtain solution of Eq. (1.1), for arbitrary f(x) and $\alpha \in (0, 1]$, such as

$$\xi^0 = c_1 t + c_2, \qquad \xi^1 = \alpha c_1 x + c_3 \sqrt{x}, \qquad \eta = F_1(x) u + F_2(t, x),$$

where c_1, c_2 and c_3 are arbitrary constants.

For three cases we obtain different symmetries for Eq. (1.1).

• For $\beta = f(x) = \frac{1}{2}$, Eq. (1.1) translates to:

$$D_t^{\alpha} u = x u_{xx} + \frac{1}{2} u_x. \tag{3.5}$$

The Lie symmetries of Eq. (3.5) are found as follows:

$$X_{1} = \alpha x \frac{\partial}{\partial x} + t \frac{\partial}{\partial t}, \qquad X_{2} = \sqrt{x} \frac{\partial}{\partial x}, \qquad X_{3} = \frac{\partial}{\partial t},$$

$$X_{4} = u \frac{\partial}{\partial u}, \qquad X_{F_{2}} = F_{2}(t, x) \frac{\partial}{\partial u}.$$
(3.6)

• For $\beta = f(x) = \frac{3}{2}$, we have

$$D_t^{\alpha} u = x u_{xx} + \frac{3}{2} u_x, \tag{3.7}$$

with Lie symmetries,

$$X_{1} = \alpha x \frac{\partial}{\partial x} + t \frac{\partial}{\partial t}, \qquad X_{3} = \frac{\partial}{\partial t}, \qquad X_{4} = u \frac{\partial}{\partial u},$$
$$X_{5} = \sqrt{x} \frac{\partial}{\partial x} - \frac{1}{2\sqrt{x}} u \frac{\partial}{\partial u}, \qquad X_{F_{2}} = F_{2}(t, x) \frac{\partial}{\partial u}.$$
(3.8)

• For $\beta = f(x) = \frac{1+3\sqrt{x}}{2(1+\sqrt{x})}$, the Eq. (1.1) turns to

$$D_t^{\alpha} u = x u_{xx} + \frac{1+3\sqrt{x}}{2(1+\sqrt{x})} u_x, \tag{3.9}$$



with following symmetries:

$$X_{3} = \frac{\partial}{\partial t}, \qquad X_{4} = u \frac{\partial}{\partial u}, \qquad X_{6} = \alpha x \frac{\partial}{\partial x} + t \frac{\partial}{\partial t} + \frac{\alpha}{2(1+\sqrt{x})} u \frac{\partial}{\partial u},$$
$$X_{7} = \sqrt{x} \frac{\partial}{\partial x} - \frac{1}{2(1+\sqrt{x})} u \frac{\partial}{\partial u}, \qquad X_{F_{2}} = F_{2}(t,x) \frac{\partial}{\partial u}.$$
(3.10)

4. EXACT SOLUTIONS OR REDUCTION EQUATIONS BY USING LIE METHOD

In this section we give some exact solutions for Eq. (3.5).

• At first, we consider the symmetry $X_1 = \alpha x \frac{\partial}{\partial x} + t \frac{\partial}{\partial t}$, the corresponding characteristic equation is of the form:

$$\frac{dx}{\alpha x} = \frac{dt}{t} = \frac{du}{0}.$$
(4.1)

Integration of (4.1) provides the following similarity function

$$u = g(t, x) = g(\theta) = g(xt^{-\alpha}).$$

Let $n - \alpha < \alpha < n$, n = 1, 2, 3, ...

According to the Riemann-Liouville fractional derivative, once we get:

$$\frac{\partial^{\alpha} u}{\partial t^{\alpha}} = \frac{\partial}{\partial t^{n}} \frac{1}{\Gamma(n-\alpha)} \int_{0}^{t} (t-s)^{n-\alpha-1} \left(g(xs^{\frac{-\alpha}{2}}) ds \right), \tag{4.2}$$

Let $\nu = \frac{t}{s}$, we have $ds = -\frac{t}{\nu^2} d\nu$. So the above statement can be expressed as:

$$\frac{\partial^{\alpha} u}{\partial t^{\alpha}} = \frac{\partial}{\partial t^{n}} \frac{1}{\Gamma(n-\alpha)} \int_{0}^{t} t^{n-\alpha} \nu^{-(n-\alpha+1)} (\nu-1)^{n-\alpha-1} g(\theta\nu^{\alpha}) d\nu$$

$$= \frac{\partial}{\partial t^{n}} \left[t^{n-\alpha} \left(K^{1,n-\alpha}_{\frac{2}{\alpha}} g \right)(\theta) \right]$$

$$= t^{-\alpha} \prod_{j=0}^{n-1} \left(1-\alpha+j+\theta \frac{d}{d\theta} \right) \left(K^{1,n-\alpha}_{\frac{1}{\alpha}} g \right)(\theta)$$

$$= t^{-\alpha} \left(P^{1-\alpha,\alpha}_{\frac{1}{\alpha}} g \right)(\theta).$$
(4.3)

By substituting the solution $u = g(xt^{\frac{-\alpha}{2}})$ into FPDE (3.5), one can get:

$$\frac{\partial^{\alpha} u}{\partial t^{\alpha}} = x u_{xx} + \frac{1}{2} u_x = t^{-\alpha} (\theta g_{\xi\xi} + \frac{1}{2} g_{\xi}).$$

$$(4.4)$$

Thus, the time fractional equation (3.5) can be reduced into an FODE:

$$\left(P^{1-\alpha,\alpha}_{\frac{1}{\alpha}}g\right)(\theta) = \theta g'' + \frac{1}{2}g'.$$
(4.5)

- For $X_2 = \sqrt{x} \frac{\partial}{\partial x}$, with substituting u = g(t) in Eq. (3.5) we have $\frac{\partial^{\alpha} g}{\partial t^{\alpha}} = 0$. So with the aid of Laplace transformation (2.2) we obtain $g(t) = \frac{t^{\alpha-1}}{(\alpha-1)!}$.
- For $X_3 = \frac{\partial}{\partial t}$, by using u = g(x) and placing it in Eq. (3.5), we have $xg'' + \frac{1}{2}g' = 0$. So $g(x) = c_1 + c_2\sqrt{x}$ is a solution of Eq. (3.5).

Other solutions under symmetries $X_1 + X_4$, $X_2 + X_4$ and $X_3 + X_4$ are summerized in Table (1), where $A = 2\sqrt{xt^{-\alpha}e^{-t}E_{1,1-\alpha}(t)}$.



TABLE 1. Results For FDE (3.5)

Symmetries	Exact Solutions	Reduced equations
X_1	$u = g(xt^{-\alpha}) = g(\theta)$	$\left(P_{\frac{1}{\alpha}}^{1-\alpha,\alpha}g\right)(\theta) = \theta g'' + \frac{1}{2}g'.$
X_2	$u = \frac{t^{\alpha - 1}}{\Gamma(\alpha)}$	
X_3	$u = c_1 + c_2 \sqrt{x}$	
$X_1 + X_4$	$u = tg(xt^{-\alpha}) = tg(\theta)$	$\left(P_{\frac{1}{\alpha}}^{2-\alpha,\alpha}g\right)(\theta) = \theta g'' + \frac{1}{2}g'.$
$X_2 + X_4$	$u = e^{2\sqrt{x}} t^{\alpha - 1} E_{\alpha, \alpha}(t^{\alpha})$	
$X_3 + X_4$	$u = e^t \left[c_1 \sinh(A) + c_2 \cosh(A) \right]$	

The exact solutions of Eq. (3.7) and (3.9) are given in Tables (2) and (3) respectively. Graph of solutions are shown in Figure 1, 2, 3 and 4 too.

TABLE 2. Results For FDE (3.7)

Symmetries	Exact Solutions	Reduced equations
X_1	$u = g(xt^{-\alpha}) = g(\theta)$	$\left(P_{\frac{1}{\alpha}}^{1-\alpha,\alpha}g\right)(\theta) = 0$
X_3	$u = c_1 + \frac{c_2}{\sqrt{x}}$	$\theta g^{\mu} + \frac{\pi}{2}g^{\mu}$.
X_5	$u = \frac{1}{\sqrt{x}} \frac{t^{\alpha-1}}{\Gamma(\alpha)}$	
$X_3 + X_4$	$u = \frac{e^t}{\sqrt{x}} \left[c_1 \sinh(A) + c_2 \cosh(A) \right]$	

TABLE 3. Results For FDE (3.9)

Symmetries	Exact Solutions	Reduced equations
X_3	$u = c_1 + \frac{c_2}{1 + \sqrt{x}}$	
X_6	$u = \frac{\sqrt{x}}{1 + \sqrt{x}}g(xt^{-\alpha}) = \frac{\sqrt{x}}{1 + \sqrt{x}}g(\theta)$	$\left(P_{\frac{1}{\alpha}}^{1-\alpha,\alpha}g\right)(\theta)$
	ıα	$= \theta g'' + \frac{3}{2}g'.$
X_7	$u = \frac{t}{(1+\sqrt{x})\Gamma(\alpha)}$	
$X_3 + X_4$	$u = \frac{e^t}{1+\sqrt{x}} \left[c_1 \cosh(2\sqrt{ax}) + c_2 \frac{\sqrt{x}}{2} \frac{\sinh(2\sqrt{ax})}{\sqrt{ax}} \right]$	

5. New solutions obtaining from old ones

In the previous section we found some exact solutions by using symmetry operators. In this part we may construct further solutions by the property that symmetries map solutions to solutions. To construct new solutions, one uses the property that the Lie bracket of X_i with X_{F_2} gives another member of the class of symmetries of the



form of X_{F_2} . This provides a route to the generation of new similarity solutions associated to X_i . The structure of the new solutions constructed from Lie brackets of the symmetries are coming in Table 4 with $B = \sqrt{x \frac{\Gamma(-\alpha,t)}{\Gamma(\alpha)}}$.

TABLE 4. New solutions

	TA D. 1	
	Lie Brackets	New Solutions
	$[X_2, X_{F_2}] = \left(\sqrt{x} \frac{\partial f_{\text{old}}}{\partial x}\right) \frac{\partial}{\partial u}$	$\sqrt{x}\frac{\partial f_{\rm old}}{\partial x} = 0$
Eq. (3.5)	$[X_3, X_{F_2}] = \left(\frac{\partial f_{\text{old}}}{\partial t}\right) \frac{\partial}{\partial u}$	$\frac{\partial f_{\rm old}}{\partial t} = 0$
	$\left[X_2 + X_4, X_{F_2}\right] = \left(\sqrt{x} \frac{\partial f_{\text{old}}}{\partial x} - f_{\text{old}}\right) \frac{\partial}{\partial u}$	$\sqrt{x}\frac{\partial f_{\text{old}}}{\partial x} - f_{\text{old}} = 0$
	$[X_3 + X_4, X_{F_2}] = \left(\frac{\partial f_{\text{old}}}{\partial t} - f_{\text{old}}\right) \frac{\partial}{\partial u}$	$e^t \left[2\sinh(2\sqrt{B}) + 2\cosh(2\sqrt{B}) \right]$
		$\left \times \left[\frac{xe^{-t}}{t^{1+\alpha}\Gamma(-\alpha)} + 2B \right] \left[\frac{xe^{-t}}{2t^{1+\alpha}\Gamma(-\alpha)\sqrt{B}} \right] \right $
		$-f_{\rm old} = 0$
	$[X_3, X_{F_2}] = \left(\frac{\partial f_{\text{old}}}{\partial t}\right) \frac{\partial}{\partial u}$	$\frac{\partial f_{\rm old}}{\partial t} = 0$
Eq. (3.7)	$[X_5, X_{F_2}] = \left(\sqrt{x}\frac{\partial f_{\text{old}}}{\partial x} + \frac{1}{2\sqrt{x}}f_{\text{old}}\right)\frac{\partial}{\partial u}$	$\sqrt{x}\frac{\partial f_{\text{old}}}{\partial x} + \frac{1}{2\sqrt{x}}f_{\text{old}} = 0$
	$[X_3 + X_4, X_{F_2}] = \left(\frac{\partial f_{\text{old}}}{\partial t} - f_{\text{old}}\right) \frac{\partial}{\partial u}$	$\frac{e^t}{\sqrt{x}} \left[2\sinh(2\sqrt{B}) + 2\cosh(2\sqrt{B}) \right]$
		$\left \times \left[\frac{xe^{-t}}{t^{1+\alpha}\Gamma(-\alpha)} + 2B \right] \left[\frac{xe^{-t}}{2t^{1+\alpha}\Gamma(-\alpha)\sqrt{B}} \right] \right $
		$-f_{\rm old} = 0$
	$[X_3, X_{F_2}] = \left(\frac{\partial f_{\text{old}}}{\partial t}\right) \frac{\partial}{\partial u}$	$\frac{\partial f_{\rm old}}{\partial t} = 0$
Eq. (3.9)	$[X_7, X_{F_2}] = \left(\sqrt{x} \frac{\partial f_{\text{old}}}{\partial x} + \frac{f_{\text{old}}}{2(1+\sqrt{x})}\right) \frac{\partial}{\partial u}$	$\sqrt{x}\frac{\partial f_{\text{old}}}{\partial x} + \frac{f_{\text{old}}}{2(1+\sqrt{x})} = 0$
	$[X_3 + X_4, X_{F_2}] = \left(\frac{\partial f_{\text{old}}}{\partial t} - f_{\text{old}}\right)\frac{\partial}{\partial u}$	$\frac{\partial f_{\rm old}}{\partial t} - f_{\rm old} = 0$

6. CONCLUSION

In the present paper, we studied the time-fractional Eq. (1.1) in the sense of Lie point symmetry analysis. The complete classifications of the fractional Eq. (1.1) are presented and all of the geometric vector field of this equation are obtained. We have shown that, by using of Lie analysis, Eq. (1.1) can be transformed into FODE, and the reduced equation is an FODE with Erdelyi-Kober operator. Some exact solutions are found and consequently by using obtained solutions we present another solutions for Eq. (1.1).





Figure 1. $u = t^{\alpha - 1} / \Gamma(\alpha)$



Figure 2. $u = \frac{1}{\sqrt{x}} \frac{t^{\alpha-1}}{\Gamma(\alpha)}$





FIGURE 3. $u = \frac{e^t}{\sqrt{x}} \left[\sinh(A) + \cosh(A)\right]$



Figure 4. $u = \frac{t^{\alpha}}{(1+\sqrt{x})\Gamma(\alpha)}$



References

- V. D. Djordjevica and T. M. Atanackovic, Similarity solutions to nonlinear heat conduction and Burgers/Korteweg-deVries fractional equations, Journal of Computational and Applied Mathematics, 222(2) (2008), 701-714.
- [2] R. K. Gazizov, A. A. Kasatkin, and S. Y. Lukashchuk, Group-invariant solutions of fractional differential equations, In: Machado J., Luo A., Barbosa R., Silva M., Figueiredo L. (eds) Nonlinear Science and Complexity. Springer, Dordrecht, 2011.
- [3] R. Gazizov, A. Kasatkin, and S. Y. Lukashchuk, Symmetry properties of fractional diffusion equations, Physica Scripta, T136 (2009), 014016 (5pp).
- [4] W. Guo-Cheng, Lie Group Classifications and Non-differentiable Solutions for Time-Fractional Burgers Equation, Communications in Theoretical Physics, 55(6) (2011), 1073-1076.
- [5] G. Jumarie, Modified Riemann-Liouville derivative and fractional Taylor series of nondifferentiable functions further results, Computers and Mathematics with Applications, 51(9-10) (2006), 1367-1376.
- [6] V. Kiryakova, Generalized fractional calculus and applications, Pitman Research Notes in Mathematics, 301, Longman1994.
- [7] R. J. Knops and C. A. Stuart, Quasiconvexity and uniqueness of equilibrium solutions in nonlinear elasticity, Archive for Rational Mechanics and Analysis, 86(3) (1984), 233-249.
- [8] E. Lashkarian and S. R. Hejazi, Polynomial and non-polynomial solutions set for wave equation using Lie point symmetries, Computational Methods for Differential Equations, 4(4) (2016), 298-308.
- H. Liu, Complete group classifications and symmetry reductions of the fractional fifth-order KdV types of equations, Studies in Applied Mathematics, 131(4) (2013), 317-330.
- [10] R. L. Magin, Fractional calculus models of complex dynamics in biological tissues, Computers and Mathematics with Applications, 59(5) (2010), 1586-1593.
- [11] A. B. Malinowska, M. R. S. Ammi, and D. F. M. Torres, Composition Functionals in Fractional Calculus of Variations, arXiv:1009.3883.
- [12] K. S. Millera and B. Ross, An Introduction to the Fractional Integrals and Derivatives-Theory and Applications, John Willey and Sons, New York 1993.
- [13] F. C. Meral, T.J. Royston, and R.Magin, Fractional calculus in viscoelasticity: An experimental study, Communications in Nonlinear Science and Numerical Simulation, 15(4) (2010), 939-945.
- [14] I. Podlubny, Fractional Differential Equations: An Introduction to Fractional Derivatives, Fractional Differential Equations, to Methods of Their Solution and Some of Their Applications, Academic Press, 1999.
- [15] H. J. Seybold and R. Hilfer, Numerical results for the generalized Mittag-Leffler function, Fractional Calculus and Applied Analysis, 8 (2005), 127-39.
- [16] G. Wang and T. Xu, Symmetry properties and explicit solutions of the nonlinear time fractional KDV equation Boundary Value Problems, Boundary Value Problems, 232 (2013), 1-13.
- [17] G. W. Wang, X. Q. Liu, and Ying-yuan Zhang, Lie symmetry analysis to the time fractional generalized fifth-order KDV equation, Communications in Nonlinear Science and Numerical Simulation, 18(9) (2013), 2321-2326.
- [18] G. W. Wang, T. Z. Xu, and T. Feng, Lie symmetry analysis and explicit solutions of the time fractional fifth-order KDV equation, PLOS ONE, 9(2) (2014), e88336.

